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Josh built a fence around his backyard. What is the perimeter of Josh’s backyard?
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Jimmy sold 45 chocolate bars on Monday. He sold 34 chocolate bars on Tuesday, and he sold 78 chocolate bars on Wednesday. About how many chocolate bars did he sell altogether?








The old movie theater had seating for 256 people. The new movie theater has seating for 457 people. About how many more seats does the new movie theater have than the old movie theater?











 Grant had some Hershey’s Kisses. He gave 16 of them to Rose. Now Grant has 23 Hershey’s Kisses. How many Hershey’s Kisses did Grant have at first?





There are 62 more turtles than trout in the lake. There are 81 turtles. How many trout are there?
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